Tekst 9 Don’t cap banking bonuses; scrap them

1p 30 Which of the following fits the gap in paragraph 1?
A a stop to hiring top traders
B further deterioration of the banking crisis
C more pressure for a rise in fixed pay
D unrealistic demands on bank employees

1p 31 What is true according to paragraphs 2-47?

A Hargreaves believes banks should try to hold on to their employees,
no matter the costs.

B Talented traders may not easily succeed in finding a new job due to a
lack of job openings.

Cc The current system of financial compensation enables banks to offer
competitive interests rates.

D The financial sector had to be reined in because of the negative public
opinion on bonuses.

E Top bankers are breaking laws in an attempt to hold on to their most
important employees.

1p 32 What does the example of The Royal Bank of Scotland make clear?
(paragraph 5)
A Bankers may have their reasons for ignoring EU regulations.
B Some banks prefer issuing bonuses over increasing salaries.
Cc There is a difference between bonuses and annual rewards.
D There is no causal relationship between profit and bonuses.

2p 33 Bepaal voor elke van de onderstaande beweringen of deze wel of niet

overeenkomt met de inhoud van alinea 7-9.

1 Itisin the interest of John Lewis employees to work hard as they
benefit directly.

2 Differentiation in salaries proves to be a productive management tool.

3 The EU curb may contribute to a change in the pay system of the
banking industry.

4 A new generation of bankers might implement base pay programs to
maximise profit.

Noteer “wel” of “niet” achter elk nummer op het antwoordblad.
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